	Table 1

	Balance Sheets

	
	Proforma

	
	1993
	 
	1994

	Assets
	
	
	

	Cash & Marketable securities
	$73,551.00 
	
	$95,159.00 

	A.R.
	$39,233.00 
	
	$45,118.00 

	Inventory
	$63,789.00 
	
	$71,240.00 

	Current Assets
	$176,573.00 
	
	$211,517.00 

	Land, Build, plant & eqip
	$57,036.00 
	
	$58,746.00 

	Accum Depre.
	($18,234.00)
	
	($21,880.00)

	Net fixed assets
	$38,802.00 
	
	$36,866.00 

	Total assets
	$215,375.00 
	
	$248,383.00 

	
	
	
	

	Liabilities and Equity
	
	
	

	Short-term bank loans
	$49,217.00 
	
	$49,217.00 

	A.P.
	$31,990.00 
	
	$33,590.00 

	Accruals
	$18,602.00 
	
	$23,252.00 

	Current Liabilities
	$99,809.00 
	
	$106,059.00 

	Long-term bank loans
	$20,082.00 
	
	$20,082.00 

	Mortgage
	$4,208.00 
	
	$3,788.00 

	Long-term debt
	$24,290.00 
	
	$23,870.00 

	Total liabilities
	$124,099.00 
	
	$129,929.00 

	Common Stock
	$46,538.00 
	
	$46,538.00 

	Retained Earnings
	$44,738.00 
	
	$71,916.00 

	Total Equity
	$91,276.00 
	
	$118,454.00 

	Total Liabilities and Equity
	$215,375.00 
	
	$248,383.00 


Work for table:

1993 

· Total liabilities and equity is equaled to total assets (which is given)

· Current assets = total assets – net fixed assets or $215,375 - $38802 = $176,573
· Short term loan = interest amount x interest rate or $5906 x 12% = $49,217

· Current liabilities = short-term bank loans + AP + accruals or $49217+31990+18602 = $99,809

· Total liabilities = current liabilities + long-term debt or $99,809 + 24,290 = $124,099
· Total equity = total liabilities and equity – total liabilities or $215,375 – 99,809 = $91,276

· Retained earnings = total equity – common stock or $91,276 – 43,538 = $44,738

· Inventory ( quick ratio (given) = current assets – inventory/current liabilities or 

1.13 = $176,573 – inv./$99,809 = $63,789
· A.R. ( DSO (given) = A.R./(sales/360) or 32.00 = AR/($441,376/360) = $39,233

· Cash = Current assets – (AR + Inventory) or $176,573 – ($63,789 + 39,233) = $73,551

1994

· Short term loan = interest amount x interest rate or $5906 x 12% = $49,217

· Current liabilities = short-term bank loans + AP + accruals or $49217+33590+23252 = $106,059

· Total liabilities = current liabilities + long-term debt or $106,059 + 23,870 = $129,929
· Total assets ( Debt ratio (given) = total liabilities/total assets or .5231 = $129,929/TA = $248,383
· Total liabilities and equity is equaled to total assets (which was just found above)

· Total equity = total liabilities and equity – total liabilities or $248,383 – 129,929 = $118,454
· Retained earnings = total equity – common stock or $118,454 – 46,538 = $71,916
· Current assets = total assets – net fixed assets or $248,383 - $36,866 = $211,517
· A.R. ( DSO (given) = A.R./(sales/360) or 32.00 = AR/($507,583/360) = $45,118
· Inventory ( Inventory Turnover (cost) (given = COGS/inventory or 5.7=$406,066/inv = $71,240
· Cash = Current assets – (AR + Inventory) or $211,517 – ($45,118 + 71,240) = $95,159
	Table 2

	Income Statements

	
	Proforma

	
	1993
	 
	1994

	Net Sales
	$441,376.00 
	
	$507,583.00 

	Cost of goods sold
	$364,135.00 
	
	$406,066.00 

	Gross Profit
	$77,241.00 
	
	$101,517.00 

	Administration and selling exp
	$35,310.00 
	
	$38,069.00 

	Depreciation
	$4,846.00 
	
	$3,646.00 

	Misc. exp.
	$7,724.00 
	
	$6,345.00 

	Total operating expenses
	$47,880.00 
	
	$48,060.00 

	EBIT
	$29,361.00 
	
	$53,457.00 

	Interest on short-term loans
	$5,906.00 
	
	$5,906.00 

	Interest on long-term loans
	$1,912.00 
	
	$1,912.00 

	Interest on mortgage
	$379.00 
	
	$341.00 

	Total interest
	$8,197.00 
	
	$8,159.00 

	Before-tax earnings
	$21,164.00 
	
	$45,298.00 

	Taxes
	$8,466.00 
	
	$18,119.00 

	Net Income
	$12,698.00 
	
	$27,179.00 

	Dividends on stock
	$0.00 
	
	$0.00 

	Additions to retained earnings
	$12,698.00 
	
	$27,179.00 


Work for table:

1993 

· Admin and selling expenses are 8% of sales or $441,376 x 0.08 = $35,310
· Total operating expenses = Gross Profit – EBIT or $77,241 - 29361 = $47,880 

· Misc. exp = total operating exp – (admin exp + depreciation) or $47,880 – (35310+4846) = $7724
· Before-tax earning = EBIT – total interest or $29361 – 8197 = $21,164

· Taxes = 40% x before-tax earnings or 0.40 x $21,164 = $8,466

· Net Income = before-tax earnings – taxes or $21164 – 8466 = $12,698

· Additions to retained earnings equals to Net income because there were no dividends.
1994

· COGS = net sales – gross profit or $507583 – 101517 = $406,066
· Admin and selling expenses are 7.5% of sales or $507583 x 0.075 = $38,069

· Total operating expenses = admin exp + deprec. + misc exp or $38069 + 3646 + 6345 = $48,060

· EBIT = Gross profit – total oper exp or $101517 – 48060 = $53,457

· Net Income = before-tax earnings – taxes or $45,298 – 18119 = $27,179

· Dividends on stock (given)
· Additions to retained earnings equals to Net income because there were no dividends.
	Table 6

	Ratio Analysis

	
	Proforma

	
	1993
	 
	1994

	Liquidity Ratios:
	
	
	

	Current Ratio
	1.77
	
	1.99

	Quick Ratio
	1.13
	
	1.32

	
	
	
	

	Leverage Ratios:
	
	
	

	Debt ratio
	57.62%
	
	52%

	TIE coverage
	3.58
	
	6.55

	
	
	
	

	Asset Management Ratios:
	
	
	

	Inventory turnover (cost)
	5.70
	
	5.70

	Inventory turnover (sale)
	6.92
	
	7.13

	Fixed asset turnover
	11.38
	
	13.77

	Total asset turnover
	2.05
	
	2.04

	Days sale outstanding
	32.00
	
	32.00

	
	
	
	

	Profitability Ratios:
	
	
	

	Profit Margin
	2.88%
	
	5.35%

	Gross Profit margin
	17.50%
	
	20.00%

	Return on total assets
	5.90%
	
	10.94%

	ROE
	13.91%
	
	22.94%

	
	
	
	

	Other Ratios:
	
	
	

	Altman Z score
	3.95
	
	5.42

	Payout ratio
	0.00%
	
	0.00%


Work for table:

1993 

· Current Ratio = current assets/current liabilities or $176,573/$99,809 = 1.77

· Debt Ratio = total liabilities/total assets or $124,099/$215,375 = 57.62%

· TIE coverage = EBIT/interest charges or $29,361/$8,197 = 3.58
· Inventory turnover (sale) = sales/inventory or $441,376/$63,789 = 6.92
· DSO is given at the industry rate of 32.00

· Profit margin = net income/sales or $12,698/$441,376 = 2.88%

· ROE = net income/common equity or $12,698/$ 91,276 = 13.91%

1994 

· Current Ratio = current assets/current liabilities or $211,517/$106,059 = 1.99
· Quick Ratio = current (assets – inventories)/current liabilities or ($211,517- $71,240)/$106,059 = 1.32

· Inventory turnover (sale) = sales/inventory or $507,583/$71,240 = 7.13

· Total asset turnover = sales/total assets or $507,583/$248,383 = 2.04

· Profit margin = net income/sales or $27,179/$507,583 = 5.35%

· ROE = net income/common equity or $27,179/$118,454 = 22.94%

· Payout ratio is 0% since no dividends were dispersed.

